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7Z00LOGY — GENERAL
Paper : DSE-A-1
(Applied Zoology)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Answer any fifteen questions :

(a) Define hyperparasite with example.

(b) What do you mean by Definitive and Intermediate host?

(c) What is haemoparasite? Give one example along with its host.

(d) Differentiate between monogenetic and digenetic life cycle with example.

(e) What is merozoite?
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(f) Which disease is caused by Trypanosoma gambiense? Name the vector by which it is carried to

human.

(g) What are the major pathogenic feature of hookworm infection? Which phylum does it belong to?

(h) What is elephantiasis? Write two symptoms of this disease.

(i) How do hookworms enter the human body?
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() Write two characteristics of trophozoite stage of Entamoeba histolytica.

(k) What are the causative agents of Tuberculosis and Typhoid in case of human being?
() What is the mode of transmission in Tuberculosis?

(m) Explain the preventive measures against Typhoid.

(n) What is Artificial insemination?

(o) What is the advantage of estrus synchronization in cattle?

(p) Define polyphagous pest with example.

(q) What are the damages caused by cotton bollworm?

(r) What are the chemical control measures of Pyrilla perpusilla?

(s) What is the economic importance of rice weevil?

(t) State two salient morphological features of adult insect of Tribolium castaneum.
(u) Write the full name of the two pituitary hormones, used for induced breeding in fish.
(v) What is the oil covering strategy for the preservation of eggs in poultry farming?
(w) What is broiler chicken?

(x) What is meant by fry and fingerling in fish?

(y) What is the medical importance of Anopheles mosquito?
2. Answer any four questions :

(a) Write short note on excystation of Entamoeba histolytica with labelled diagram of cyst. 342

(b) Describe the Erythrocytic schizogony cycle of Plasmodium vivax in human. 5
(c) Mention the prevention and control of tuberculosis. 5
(d) What is the scientific name of cotton bollworm? Describe its life cycle. 1+4
(e) What is induced breeding? Write four advantages of induced breeding in fish. 1+4
(f) Write short note on management of breeding stock in poultry farm. 5
(g) Write the advantages and disadvantages of artificial insemination in cattle. 3+2

(h) Define parasitism. Define with an example : Facultative and Obligatory parasite. 1+2+2




